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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / U&% {876 & &7 A, 3T vh gATARM Fam H HW yFR A
ToTAIfS &1 9T H8E?

1. All the above / 30 HH

2. Only Peer tutoring / dhdel Agwal fRreTor

3. Only Cooperative learning / hael TehRT fRAGT

4. Only Collaborative learning /had AEATcHD 8T

Correct Answer :-

« All the above / 53U HH

2) A person with capacities to respond appropriately to the moods, temperaments, motivations, and desires of other people have good
intelligence. / ARG, Tasma, Womait 3T 3= At A seanpit | sfRa vk & i s@7ar g =Fq & seor T
g 2

1. Intrapersonal / JcRIdTRAeh
2. Interpersonal / 3ddTfhes
3. Naturalist / Jpfarargr

4. Spatial / FTfA®

Correct Answer :-

« Interpersonal / 3cdfafthes

3) What type of learner is a child who learns best by taking notes during class and reading them aloud before a test? / T Tl R 9FR FT
fRrameft &, S Fawm & ek Aew AT 3 9daT ¥ g I T A gea dga} H@dr @2

1. Reading/writing learner / U&= /or@a et (@r@a arem)
2. Visual learner / TF frgmmeff

3. Cognitive learner / TATTcHS et

4. Descriptive learner / UTaTcaa et

Correct Answer :-

» Reading/writing learner / o /orae fRemdi(dra=r arem)

4) What type of parenting style is characterized by giving no rules or structure to children? / At &t F§ @9 @ AT 7 & A R
9FR 1 AfHsmas A Fr QLdvar garg e 272

1. Enmeshed / 3T '§'3-1T
2. Permissive / 3JHIGH
3. Authoritative / 3TTTAIRS
4. Authoritarian / JTAHRATET

Correct Answer :-



e Permissive / Ha?ﬁa_d?

5) What phenomenon is experienced when one knows a person’s name but cannot remember it in the moment? / ¥l af@a &1 a7 gar g
AfFT deprer I A A W FF geAT FT Ao g 82

1. Tip-of-the-tongue phenomenon / feg-3itm-g-elor gear
2. Recognition error / HIAT 31%

3. Forgetting / #el<ll

4. Retrieval cue / g?rcﬁﬁr Hhd

Correct Answer :-
« Tip-of-the-tongue phenomenon / feg-3itm-g-elor gear

6) What theory focuses on the degree to which new information is mentally analysed? / @l @T ﬁz}n?r W W U Higa Far & & A%
IHER F1 FE g8 9% AWfas w9 & fAedver frar s 82

1. Information processing theory / Hﬂ?ﬂ-mw forgid

2. Relational analytical theory / HEUWR® fA&uvTeaAsn g

3. Levels of processing theory / gferareor Rgid & &R

4. Deep level processing theory / &Y TR HI Ufchareor Rgia

Correct Answer :-

« Levels of processing theory / UfhaThior fagid & T

7) Impulsivity is a characteristic of the following disorder. / HTAhaI(FFIeHaR) Arafaf@a RFER i v RAAvar g1
1. Eating Disorder / fileT fadR

2. Attention Deficit Hyperactivity Disorder/ €T JHT@ Afehadr fawr

3. Learning Disorder / 3191 fa@R

4. Post-traumatic Stress Disorder/ T8 TRETdS=d dad fddR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ €3Tel JHTT FRhadl THR

8) Who among the following is not a learning theorist? / AFfaf@a & & =la v R ﬁ{%ﬂ?ﬁﬂ'{' gt 82
1. E.L. Thorndike / USdS$ TS AlAS5H

2. E. Erikson / é’ lyree)

3. B.F. Skinner / &1.0%.fEheR

4, Ivan Pavlov / 3did UTdelia

Correct Answer :-

« E.Erikson / §. TReqa

9) According to Vygotsky, adults can help a child learn by building upon their knowledge with new knowledge using techniques. /
AFINHH & IHTAR, TIEH Thellhl HT YA FIF AT AT & AT AT AT FT FAOT FIF T ged F @ & Acg W
wFa g

1. Scaffolding / TRTHBIfesaT

2. Psychological / HARSAIAD



3. Proximal development / THTTEY faera
4. Ethological / Y dAlfohdl

Correct Answer :-

« Scaffolding / THTHBITESIT

10) According to Jerome Bruner, ______representation involves encoding action based information and storing it in our memory / SRA CGR
¥ aEn,_ vfafafees & e vaeer smeRa srererlt anfAer @l @ 3k 3@ ewd wfa F warda fear Srar

1. Iconic / ¥faarfaem

2. Figurative / 3TeleTReh

3. Enactive / 41T Fed
4. Symbolic / WieTErEH

Correct Answer :-

« Figurative / 3TclehIIeh

11) According to John Dewey, the teacher plays the role of a in the learning process. / T 3 F HJHR, et e Ay e &
1LY &1 g e 8

1. Guide / ANTGYH

2. Facilitator / HIAUR

3. Partner / &Y

4. Philosopher / gAUTER

Correct Answer :-

« Partner / &TY

12) Principle of ‘zero rejection’ means —/ ‘Uqed 3@17% Eal ﬁz}n‘r-r' T HF E -

1. no child with disability will be denied opportunity to education. / <l +ft fe=aiT s=3 & Rren & sraeR ¥ dfera =g fasan s
2. no child with disability will be discriminated upon. /fereY 8t fecaier s= & @Y AgHa & fopar STwam|
3. no child with disability will be given admission. / fordY 7 f&eamer a= &l yaer w¢r feam smwam|

4. no child with disability can be served in regular school setting. /Tl ot fesai s= & Fafr faema dvamn & =16 foan o wean H|

Correct Answer :-

« no child with disability will be denied opportunity to education. / Tt +ff feaaiT T ! e & SiawR W dfera 6T fvar s

13) The Big five personality traits is also knownas______ / 93 Urq cqfddcd J&Toit &1 & A F st ST Srar §
1. BROOK scale / §[eh Ehel

2. RIVER scale / JaX Ehel

3. OCEAN scale / 3Tl Tohel

4. CANOI scale / Wﬂg Thel

Correct Answer :-

« OCEAN scale / 38T That

14) The famous psychologist who established the study of genetic epistemology which explains the process of how people develop cognitively from

birth throughout their lives is: / ¢ YfAGH AMAATAF TS HARNF AF-IeUTd AT F IJEIIT F FTGAT A, S §7 THHAT A



e FaT § & FE veR Safed fad wdied oA § TaEeAs W 8 ReRa aa § 9 §
1. Arnold Gesell / 3dTes e

2. BF Skinner / & T% ek

3. Howard Gardner / %’I?-I'I'é; MS

4. Jean Piaget / Sl fOamaY

Correct Answer :-

« Jean Piaget / SilT TUTSl

15) The cells in the body that conduct information to and from the brain are: / R # FI¥HT S ARTss F 3k 39 v FeaRr F71
FarerT FXe &, @ et §

1. Reproductive cells / ToTeTeT PITARIT

2. Muscle cells / AU ifrepre

3. Nerve cells / df3epT hifAeprd

4. Blood cells / Toh AT

Correct Answer :-

« Nerve cells / 3T HifAHT

16) Assuming another person’s perspective is known as: / fREY 310 =afFd & Tioewor Y Igor FIATR:
1. Role strain / 3fehT gaTd (Tel T¢A)

2. Role making / 3f3enT TAATOT (et Ffeha)

3. Role distance / 3f&eT gIT (TeT BEEH)

4. Role taking / {1 oiAT (JreT fHaT)

Correct Answer :-

« Role taking / BT ¥ (It &fepan)

17) Which sense takes the longest to develop? | FE g3 &) JAFfad 8 & 30Fad 7T oorar 22
1. Smell / FgeT

2. Hearing / #<qdl

3. Taste / TdTe,

4. Vision / =¥

Correct Answer :-

« Vision / ¥

18) Which of the following is the final stage of reasoning in post-conventional morality according to Kohlberg? / RFafaf@a & @ &ia ar
AT F HTAR SR-Awdera Afawar # a &1 sifaw awor 72

1. Morality of universal ethical principles / Hdelifthes AT Hear & AfApar
2. Morality of contract / FaS & Afdadr
3. Orientation toward punishment and obedience / gUs 3R 3mer IR AeJpeld

4. Social concern and conscience / AT HEIfd 3N I

Correct Answer :-



« Morality of universal ethical principles / TTIlifpd Afdd FHear &1 Afawarn

19) Grade Acceleration is reccommended for educating the _ children. / Tl F RIfETT W F T Iz caror H RAeier fr st 2
1. Normal / GTIRUT

2. Disadvantaged / I

3. Gifted / UfQTRITeR

4. Backward / U2

Correct Answer :-

« Gifted / gfasmemey

20) According to Freud, the term hysteria describes:/ WIS ¥ IR, REvar 2reg @71 3ref &:
1. A phobia of animals./ SATAERT T TF BT

2. A phobia of people / 9Tl &I Teh HIfT

3. The physical reaction to mental trauma./ FTATIS 3TETT & fow aiRe wfafear

4. The physical reaction to emotional trauma/ HTdATCHS FTETT & forw MR ufafear

Correct Answer :-

« The physical reaction to emotional trauma/ HTdeTcHD 3TLTT & forw miiRe gfafear

21) Behaviorism was founded by / m%’?ﬁ? aRT J=yfoe forar T ot
1. Tolman / eicldAd

2. John B. Watson / ST &Y dicde

3. B. F. Skinner / 1.U% f&haT

4. Thorndike / TS Sch

Correct Answer :-

« John B. Watson / ST &Y areqd

22) Which of the following is not a characteristic of the discussion method of instruction? /fafefad & & w1 fFdw & AR vsfa & e
forram =18 82

1. The learners are trained for reflective thinking. /fﬂﬂfﬁ?ﬁaﬁ FfaaAs Riaer & forw ufAfaa fear EHHT%I
2. It involves competitive cooperation. /%ﬁmiﬁw NIEEES

3. Itis an oral and written method of instruction. /Wﬁé?TﬁWﬁmﬁTﬁmm%I

4. Tt is a group centred process. / I8 U IM4fed Hixd Ufehar g1

Correct Answer :-

« lItis an oral and written method of instruction. /Wﬁé?TﬁWﬁ@ﬂ?&ﬁTﬁ'@Hqﬁ%l

23) The shape of one’s nose is determined by: / fFEHY F¥ ATF FT PR 5TH garT oruiRa gar &:
1. Geography / sf"ﬂﬁ

2. Environment / GTa0T

3. Heredity / mﬂ

4. Culture / FERTA



Correct Answer :-

« Heredity / 3TeJaTRARAT

24) Learning should be focused on: / 3T 9T €A Hfgd FFAT ST =IRRT:
1. what child is learning / I=dT T AT ™ T &

2. performance / Preeic

3. getting job / ST UTT FHLAT

4. marks/grades / 3w/ IS

Correct Answer :-

« what child is learning / =2 T 3fATH ™ & &

25) According Jean Piaget, children develop abstract logic and reasoning skill during . | S REer & HqER, F e et & g
aF 3 aF Flua el gar

1. Concrete operational stage / EH\?-'T TiehdTcas 3aeam
2. Formal operational stage / 3'1?:13 GRpATcHSD 3TTEAT
3. Preoperational stage / EE{T- HfcpaTcA®IaEdT

4. Pleasure / 371G

Correct Answer :-

» Formal operational stage / 31?17-? AfopaTcA® TaeAT

26) The method which is based on the fact that students learn association, activity and cooperation is known as: / dg fAfrsisaaEi w
3T gl & fp o= arpfee nfafaft sk geaiT diea §:

1. Problem- solving / HEIT- FATITA
2. Project / SRITSTET

3. Demonstration / e

4. Discussion / faaR-fassl

Correct Answer :-

« Project / WS

27) Inclusive education requires that schools should be free from the effects of negative forms of ./ TEmah R & e srawge @
,_____ ¥ IR Ul $ YU A g Bl

1. Imbalance / 378l

2. Differentiation / 3Tddhelel
3. Diversity / fafaerar

4. Discrimination / G&TUT

Correct Answer :-

« Discrimination / G&TUTd

28) A commercial advertisement of food produces saliva in our mouth. This is because of i HieH BT Th HGHTRS ﬁil‘ITF-T E!Trﬁ H’s’ AR
BT SUTG Bl | FHB ToTE ]

1. Operant conditioning / 3{Ta¥e &H3IRIfHT
2. Sign learning / Uit 3T



3. Classical conditioning / FelfAhel HEIRATIT
4. Latent learning / [t 3

Correct Answer :-

« Classical conditioning / FolTihel HTRATAIT

29) Stress affects learning negatively by: / WWW@W@UWW%I

1. causing learners to act out or zone out./ fIENIAT H FHT Far F fow ARG Feam|

2. teaching learners to improve their behavior./ 30 TFGER A gur W & for Renfdat @ geran)

3. encouraging learners to discuss their problems with peer. / TTfAAT & T SeTch TITATIT T Tat e & forw Renfdat @1 weaRa wwar|
4. releasing adrenaline./ ('?E'IT*I‘I’%FT SR HAT |

Correct Answer :-

« causing learners to act out or zone out./ fIETTIAT & H et & fow IRT Feam|

30) helps the visually challenged people to read and write using finger tips and special aids. / AT A #Y Jerel fY A
(RFrfew) 3R Y @ue % 37T @Rt gea 3R fo@s # wgaar e B

1. Lovass / o[drd

2. Braille /s

3. Idea books / faR gEasd (3msfear o)
4. Idea starter / IR UR% (3MEfEaT FWIEX)

Correct Answer :-
« Braille /ﬁa’

Topic:- General Hindi (L1GH)

1) AU A TN TR FY TR B a77a1$ ¥ | IS AHA 95 Gera-1 sitar ot aurardn 21 S5 Fa1 A 9ga 07 81 o9 B H T8N R 3R o g A man @
Fx SRR & 3rell &1 Ha-ue, IwTiaal A el § @i baRl ¥ ITadr g Ul 3= 954 3resT @rdT ¢ | 9d W 39 U STHT 81 A B e f @t Rt g |
STt § 3 ST % 1 P71 g1 1l & a9 HIST b qTER TG IR 98 SUATHT WG & HeR 96 Ted W 364 § 3R TPfd 1 Ol FeRd 81 §79 71 3% 74 ot
ity frareht 81 s gu ot 399 faeiie-wf #va €, 8 df 1 7@ ¢ B 59 3 Jew &1 U ¥ iy Tura & @ara ® T 31 Wy 3t Hifd TR 3d §

Iuer T B Ygh? A 3T ¢ usil F SR warsd :
U A P iRy v  Fan ared 82

L wqfe

2. faema

3.

4. rqfe

Correct Answer :-

2) AIYGEN A 3Ot TRIR &t i HISt a7aT1S 81 TS WA 95 YeTa-1 aiftan o eFrar 81 3961 Far @ 9gd 39 81 4 Bt ot T 8 ok o g A8 man @1
Fex e $ areHt €1 pa-uld, @il A N § o BoaR) § Soddl g U S 9gd 35T Wl €1 THE WY ST UT SIWE 2 | U Y oie faT &Y TRt o
STt § 3R STHH B T BT 81 AT & 99 BId1 F 96 9gaR R 96 SAdIHR T-IE $ TeR 98 e IR 964 § 3R Ubfa #t SeT ferd §1 378 9l 39 74 &Y
ity firercht 1 i gu ot 39 farie-waf wva &, =1 @t U 73 v wif 59 9t Yew @1 U ¥ oy wura § wara & der 1 Wy 3t Hifd oR 39§

IWY T B UgphR - faw 7T ueil & IR qarsy
USH: ATHAT T yaiaarE Weg 481 22
189

2. 3FT



3. &%

4. ThIRA

Correct Answer :-

3) TIYAGRT A 30 TR P T Bt a7aTE §1 SqP A Tgd GeTa-1 aitran Wt Tamn 1 IS Har A 9gd 01 21 4 B Hufl T @ ok e g A man @
TR MR & el &1 Ha-ue, IwTiaal A gl § @i bar! § IS adT gt Ul 3= 9gd 3resT @rdT ¢ | 9y W 39 U STHT 81 W B e f &t Rt g |
STt B 3T STRTAT % 1 P71 51 1l & a9 HIST b qTER Igay IR 98 SIS WG & HeR 96 Ted W 964 § 3R TPfd 1 Ol FeRd 81 §79 A1 3% 71 ot
iy frareht 1 o gu ot 39 faeiie-wf #va €, =€) o 1 7@ U B 59 3 Tew &1 e ¥ iy Tura & wara & T 31 Wy 3t Hifd TR ad #

Iuder TR P Ygh? A 3 ¢ wsil F SR w15y :
U G T ygigar eg T8 82

L. gAT

2. 79

3.3gA

4.9

Correct Answer :-

4) TIYISRT 7 AT FTRIR F} T H1Y 977a1E |1 IUF A g8 Gera- S ot erarar 81 6 S A 95 W9 71 o= Y w7 { ok g g e man 21
Frex Ao $ amert ¥ pa-uld, @il A vl § o BoaR) § Soddl g U S 9gd 35T Wil 81 THE WY ST U SIwl 8 | U B oie o &Y TRl @t
St @ SR SITTHT % T BT 61 91T & 99 BT & e TGk W A SAATHR AHE F TR 98 T W 354 § 3R ypfa @t Ter1 Fera &1 399 7t 39 791 &1
ity firercht 1 oy gu ot 39 farie-waf v &, =1 ot o 73 v wif 59 9 Tew @1 U ¥ oy wura § wara & T 1 Wy it Hifd oR 39§

IWI T B UgHR 1 faw 7T ueil & IR qarsy
T Teltar @ T aread 82

L Fel a1 §d & 9 § T Arer oEd

2. geT$ T tollieesd Qfie

3. el FUs

4. gd & e ardr g

Correct Answer :-

« @Il 1 G & GET F T FHerl o=

5) WIYAS 7 U TR F TH 1Y 99918 81 ITP 19 Igd a1 ian f Tramar 1 S9! Hor I 9gd 97 81 4 Bt B3t 781 § 3R oad= g 78 g
Fgx MR & 3relt &1 Ha-mne, IwTiaal A el # @il bRl § Ioadr goit Ul 3% 9gd SresT @raT ¢ | 9d W 39 U STH 81 A B e {7 @t et @ |
Sl @ SR STTHI F% 3T BT 81 A1l & 99 BT & dIeR Igak W a8 S HH-E & AR 98 e W 354 § 3R Ul ot Ter1 fFgra §1 399 7 896 74 &1
ity firereht 81 i gu ot 39 farie-waf wva €, =181 d U 7@ gU weif g9 3t Yoo &1 U ¥ oy Tura & wara & den &1 W@y 3t Hifd o 3d &1

ITe T B UgHR Y AT Ty F IR qagy
T IR U A A S /e

1. faca

2. acaA

3. dgd

4, T

Correct Answer :-

. A

6) WHASN 7 U TR F Th HIEY 99915 81 ITS AU Tgd eTa-1 Siitan ot erarar 1 396! Fa A 9gd 99 31 4= Bt it 78 § 3R sqa= g A man g1
TR AR F omeHl 1 pa-uid, Ye1iaal A gl § @ waAR! § Soddl gl U S8 9gd ST @il 8| TH WY 3% U SIwt 7 1 W9 B 9 3T &Y IRt e
STelt @ SR SITTHI FE T BT 6 o1l 3 99 HIY & qER IR W A SAATHR AHE F UER I8 T W 359 § 3R vl ot e fFera §1 399 7t 39 7= 31
it et 81 i gu Y 39 famile-waf #va € 8 @t Uy T4 g¢ wRif g9 3t Ao o1 e ¥ RAv wara & Tura o Tear &Y Wy Ft Hifs TER 39 7



IT T B UgHR 1 AT T yeil & IR qagy

W W & YUY BT TR HAT Sl 22

1. e WA FE T H & AT &

2. hael & &1 el g S ®

3. e & il o S § 3R A FE T F A ST &; aar
4. feer ®r et a5 Sl ¥

Correct Answer :-

o o &7 a7eft o S ¥ 3R AT B [T B A G §; aEr

7) TIYEERT A 3O WTHIER F T Bt a7aTE §1 SUP WA Tgd GeTaT aitren ot Tarn 1 IS Har A 9gd 01 81 4 B Sl T @ o e g A man }
TR AR F omeHl 1 pa-uld, Yp1iaal A g § @ BaAR! § Soddl g U S+ 9gd ST @il 81 TH WY 3% U SIwt 7 1 W9 Y 9 3T &Y IRt e
STl @ SR SITTHT FE T BT 61 91T 3 99 BT & AER IR W A SAAHR AHE F AER I8 T W 359 § 3R vl ot e fFera §1 399 7 39 7= 31
iy frerht 1 i gu ot 399 farie-waf vl €, =1 ot o 13 v wif g9 9t Tew &1 U ¥ Ry wura § wara & T o Wy 1t Hifd R 39§

I TR BT ygHR - 1Y T gl F IR Fasy
e ifRsfa & aiftr @ 32

19T

2. PREF

3. fefar

4, 309

Correct Answer :-

8) HIYGEN 7 U WRWR B Tt FHISY §1a18 81 IS WA Tg Gera-T Fitar ot errar 81 399! Far @ 9gd 99 81 47 ot ot 78 8 ok o1 g 98 manr 81
Frex RS $ oreHt §1 pa-uld, @il A Nl § o BoaR) § Soddl g U S 9gd 35T Wil 81 THE WY ST U SIWE 2 | U Y oie faT &Y TRt ot
STt § 3R STHH B 37 BT 81 WIaT & 99 BId1 F 96 IgaR R 96 SAdIHR T-IE & TeR 98 e IR 964 § 3R ybfa # SeT ferd §1 378 91 39 74 &Y
ity firercht 1 i gu ot 39 farie-waf wva &, =18t o 73 v wif 59 9t ew @1 U ¥ oy wura & wara & der 1 Wy 3t Hifd oR 39§

ITI T B UgHR - faw T ueil & IR qarsd
WH: WY 59 USR & omet 82

1. geex HfAEf arer

2. 90 et arer

3. BT aftea et

4. FoR 3R FgerEa B

Correct Answer :-

9) HIYAEN 7 Ut IR B T FHISt I1a18 81 IS WA Tgd YeTaT1 Fiitan ot TH1arn 81 39! Far A 9gd 99 81 ¢ Bt it 781 § o o g 98 T 81
Fr SR & 3rell &1 Ha-mne, Il A el § @il barl § Ioadr gt Ul 3% 9gd 3resT @rdT ¢ | 9d W 39 U STHT 81 W &Y e {7 @t et g |
STt B SR SITAAT FE T BT 61 1T 3 99 HIT & AER IR W A& SAAHY HHE & AeR 98 T W 334 § 3R Upfa 9t se1 fFera §1 399 7 390 79 3t
ity firereht 1 o gu ot 399 farie-waf #va €, =81 d U 7@ U weif g9 3 Tew &1 U ¥ iy Tura & ware & den &1 Wy 31 Hifd o 3d §1

IUG TR P UghR A1 3T T vt & IR Fargd -
UR: HIYTE St IS & A T UT?

1. Sfarer

2. ST

3. el

4. gafran

Correct Answer :-

Lo



10) TATYTSRT 7 AU TTARER FT 70t H1ST I9a1S 21 SUD WA 9gd JeTa-11 Firan ot Traran 1 39 a1 & 95 U0 81 49 3 Hit 161 § 3R = g =78t
B e ARy & et 1 pa-Nd, Y1t | 2l § o BeaRl B STadr gai Ul I 954 ST TTaT 8 | Tuy ot I U 1wl 1 W 31 Wi 9 #1 Redt
T ST 8 SR R $% [ FT 8 141 § a9 Pt & q1eR Tgay W a&T SAATHR HIAE & YgR I8 el W Fad 7 iR upfa 31 Tel Fgra §1 399 am=t 3716

T I it Rreredt 1 e Y a1 7@ fsile-wraf #7d €, 7E1 df U @ g¢ B gad Bt Ted 3 U § i T € @are § wear &1 Ty 9 yifd R 39 7

IUG TR P UghR 1 3 T vt & IR gargd
UR: UTYGG B T 9gd ST adl 82

1. BedRT & SSoldl g3 ure

2. AR W F&aT

3. FHAG oA

4. ypfa & T AR

Correct Answer :-

11) ATYTIRT 7 3G TR P 70 F1S) 79a1S | STP T 9gd JeTa1 Siran ff Traman 1 3@ a1 | 959 U0 81 49 P Ht 16 § 3R g g e
B Yo TSRy & el 1 Ba-Nd, Y51t | gl § o BoaR] B STadr gai UTHT 3 954 ST TIaT 81 THY +ft I U 1wl 1 W $1 W9 9 #1 Redt
@ S | SR TAHI $8 I P71 81 91T § 99 BT & qER TGk W A& STATHR HHE F WER I8 T W 54 § 3R ypfa ot ver fFigra §1 374 ot 3°9%

T4 F1 g e 81 i gu @t 39 famie-uaf o 8, 78 @t ury 32 3¢ BRI g9 F1 T o) Yo ¥ Ry wara § @ura ¥ Tenn & waw $1 vifa TR 39 #

I TR BT ygHR Y 1Y T gl F IR Fasy
UH: AIYae $ few Iier | 99 ur?

1. IS

2. HIFAT

3. el

4, gafrar

Correct Answer :-

12) ATYGERT A 3T WTHRAR Y T4t H1d1 ga1E 81 STP WA= 9gd YeraT1 giran o T7arar § 1 S9! wall | 9gd UH 81 8 &Y H3t 781 § 3R oo § =8
B e ARy & el 1 pa-Nd, Yt @ N F ot peaR) B Soaar gan Ul 3% 984 ST TTaT 81 THy ot 3% U 1wl B 1 9 31 59 39 9 eedt
A O & 3R SR % 377 T 8] WITdT & 99 $I3] F 16x T W ad SaaTd? HUE b TER 98 T W 339 § 3R Ul it oer Ferd §1 378 v 379

T &Y gt freredt 31 ot gu t 3 familg-aaf #wa €, 78t oY U 32 gu Wi god ot Wew &) e ® fRu wara €t wura § W &) waw &Y yifd TR 34 8

ITY T B UgHR - AT T ueil & IR qagy
R WIYGEN e T d H 82

1. 3187

2. el

3. e

4. 3T

Correct Answer :-

13) HIYAERT 7 Ut TTHRHR Bt T BT S1aTS ¥ 1 3P WA Iga GeTa-T S ot TRraray 81 ) el A 9gd 9 g1 4= Bt w161 § ok o g =i man
B e ATSRy & el 1 Ba-Nd, Ip1faat | gl § o beaR) B STadr gai T I 954 ST TIaT 8 | THy ot I U 1wl 1 W $1 W 9 #1 el
T S 3 3R STHATT % 1M 1 6 ST § 99 SIS S a16T Tga% IR a8 SAATPR A1 & T a8 TTeia W 354 ¢ 3R Upfar ot Ter fFend §1 710 A4t 37

T B ity Rrerdt 81 e g€ a 3@ fasie-waf #7d €, 7€) d U @ g¢ B gad @t Ted 9 He § R wara € @are § e &) Ty 9 Hifd R 39 R

Iuer TR P Ygh? A 3T ¢ usil F SR warsd
UR: TG & ER TR WR B 984T 32

L fa=

2. ATYaeH

3. ATYIEE F TRATST



4. ATYIAGH

Correct Answer :-

14) HIYAERT 7 3Tt TTHRHR Bt T B} a1 ¥ 1 3P WA Iga GeTa-1 S off TRraran 81 ) el A 9gd 00 81 4= Bt w161 § ok o g =i
B Yo ATSRy & el €1 Ba-Nd, Ip1aat | gl § o boaRl B STadr gai UTHT 3 954 ST TIaT 81 THY ot 3% U 1wl 1 W $1 w9 9 31 el
T STt § SR AT B3 37 BT 81 o1l & 79 BId] &b qTeY 9ga¥ W a&d SAarhe HA-E & WEk 98 e W Y54 § 3R upfa Bt ger fFgrd §1 37 aFl 39

= Y gt et 81 forr gu t 3R famile-waf #ed €, 7t &Y U 3@ gu Wil 599 oY wew &) U A fiu wara €t wura § W @) w@w 9 uify eR 39 8

IR TR BT YR - 1Y T gl F IR Fasy
UT: HEG BT YANT fbd U & giar 32

1. foere & w0 &

2.96I & ¥ H

39 & T H

4.dfd & T H

Correct Answer :-

o afed FwTH

15) ATYTERT A (U WTHRAR Y T4t H1S} ga1s 81 SHP WA 9gd Yera=T1 sirar ot Trarar § 1 39! &all | 9gd UH 81 8 &Y 3t 76 8 3R o= § =gl
B gror el & amarht ¥ 1 pa-a, Toerfedl | Al # @ BeaR! § ST g U S+ agd SresT avaT 8 | gHg it 3% U S1wl 81 I Y o o7 Y et
T AT & 3R 3R $S T H1 5l AIaT § a9 BT & AIe? Tga¥ W a&d SAAIHY TG & YgR 8 T W Jod & SR Upfa &1 Bel FgRd &1 3799 u=l 376

T &Y gt frereht 31 vy g ot SR familg-af owa €, 7Y Y e 72 gu el god ot wew ) e ® fiu ware € wara ¥ W &) waw oY yify TR 3§

ITIe T B UgHR - AT T ueil & IR qarsy
T fFan e Il TTHREWR @1 Iars?

1. AAETH

2. AITAGTH

3. ATHTEH

4. ATYdICTH

Correct Answer :-

16) Uad % f, uda wew,
uq-ud ufvafda uepfa-asn

AE@ATHR Tdd IR

3T TG -G TS,
AP TET § IR-TR

= wa ¥ e 7R,
-forrd wRo # var ara

gdur @ Y 2 fa=men

ffY &1 71RE MR IR-3R

e # T - S@ford $

T it afeal W gw

A & 7 W el

I U= P UgHR A1 3T T vl F IR 941z
U: Bfd B guRI Tl [Pad! O @ %8 82
L. A dr afzar & aw®

2. Ugls & 37TEl fr Re

3. 9% 3RS 6 e

4. gqoT Y e

Correct Answer :-



17) utaw %4 &, uda wa=r,
yd-vd ufkafda upfa-asr

AEEATHR Udd IR
3T e -G BTS,
3ade ¥eT & TR-9R
2 via ® e v,

-forae =RoN § uer ara
dor 31 S € fa=men
ffY &1 7RE TR IR-3R
e § d99-9 I«iford B
et it afea W gv
A & 7 W R

ITYT T B U A T Yy F SR gagd ;
W : dd &1 gatgarH v 82

1. S UeTS

2. Faer A

3. dad 3T

4. U HfY

Correct Answer :-

o IIH T

18) UGy %q @Y, udd v,
ud-va ufeafda ypfa-asr

AEATHR Tdd IR

3 T TI-JH BTS,
TP TET § TR-R
1 va § e weTeR,

- =R & var ara
ot a1 Ten ¢ famen
frfY &1 7RT TR FR-3R
e H T9-9 Swiford $
ot #t afea H gew
T T I W e

ITY TR P UgHR 12 3T 7 usY & IR 9arsd
US: 3R T 1Ra &1 I I 18 22

1. Aree

2. 78

3. 407

4, Udd

Correct Answer :-

19) UaY %q @, vdd v,
Uq-ud uikafda uepfa-an

AE@ATHR Tdd IR

I T - TS,
AP TET § TR-TR

= via # el R,
T TR & var ara
dor a1 S @ farmen

firf¥ &1 1iRe R IR-3R
e ® T - Swiford $



Hidt 31 afsal 9 g
A § 3 o PR

Iuga Ui HY UgH - faT 1Y el F SR wargd
T TR B go a1 E 82

1. drene ¥

2. A & Azt &

3. §oIRT go0 &

4. gUoT ¥

Correct Answer :-

o A & a8

20) uTaw %9 ft, uda vawr,
ud-vd ufkafda ypfa-asr

T@ATHR Tdd AUR

3T e - WS,
e TET & IR-aR

= v § e weTeR,
-forad =aRoN ¥ uer ara
ot a1 Srert € farmen
ffY &1 7Ra TR IR-3R
e | a9 9--1 Sford $R
et 5t afea W gw
R & 9 R gt

IWod TR P g 12 3T T usf & IR 9arsd :
US: Hfd 7 drere B gAEaT fead it 22
1.3 @

2.%g ¥

3.qUor §

4.999 ¥

Correct Answer :-

. gguT §

21) Uaq %q @, udd v,
uq-va ufafda ypfa-asr

AE@ATHR Tdd IR

3 T - TS,

TP TET § TR-TR

1 e ® A weTeR,

-forrd wRo & var ara

ot a1 S € fa=men

iy &1 7Ra TR FR-3R

U H T -9 S@ford $

Tt it afeal @ gw

A T 7 W e

IWI U P UgHR 12 3T T usl F IR garsd
URH: UTa g § Upa ¥ S A1 yRad Amdr 82

1. Pad Tdd & = $o drerel F gddl H wers @S usdr ¥
2. el - g1 e s

3. hadl AFHA W TP IS &l

4. SRH T

Correct Answer :-



22) urad g o, udd v,
yd-vd ufkafda upfa-asri

AEEATHR Udd IR
3T e -G BTS,
3ade ¥ET & TR-9R
2 via ® e weeR,

-forae =RoN § uer ara
dor 31 S € fa=men
ffY &1 7RE TR IR-3R
e § d99-9 I«iford B
et it afea W gv
A & 7 W R

ITYT T B U A T Yy F SR gagd ;
U: Urad g B Upfd &1 w0

1. 9ga T g

2. TR B ST B

3. T 8707 aGaldT ¥l

4. T8 geer Bl

Correct Answer :-

+ T &T0T JeoldT B

23) Uray %q @Y, udd v,
ud-va ufeafda ypfa-asr

AEATHR Tdd IR

3 T TI-JH BTS,
TP TET § TR-R
1 va § e weTeR,

- =R & var ara
ot a1 Ten ¢ famen
frfY &1 7RT TR FR-3R
e H T9-9 Swiford $
ot #t afea H gew
T 7 W e

ITY TR P UgHR 12 3T 7 usY & IR 9arsd
R GET BT o T R?

1. %e

2. TS

3. et

4. g

Correct Answer :-

24) UaY %q @, udd v,
Uq-ud uikafda uepfa-an

AE@ATHR Tdd IR

I T - TS,
AP TET § TR-TR

= via # el R,
T TR & var ara
dor a1 S @ farmen

firf¥ &1 1iRe R IR-3R
e ® T - Swiford $



it ot afsa @t gr
A & g W sl

Iuga Ui HY UgH - faT 1Y el F SR wargd
U e T-U Fe A T AT 32

L& q B A&

2.0ersl W fBd gt et ¥

3. Ugrs & aeeslt |

4. gell & IS 4

Correct Answer :-

. gl W e Rt gelt &

25) uTaw %q ft, uda vew,
yd-vq ufkafdd uypfa-asr

T@ATHR Tdd AUR

3T e - WS,
e TET & IR-aR

= v § e weTeR,
-forad =aRoN ¥ uer ara
dur a1 e € famen
ffY &1 7Ra TR IR-3R
e | a9 9--1 Sford $R
et 5t afea W gv
TR & 9 R fgi

IWod TR P g 12 3T T usf & IR 9arsd :
T R’ P TR T 32

1. et

2. HamsT

3. %X

EACIEC)

Correct Answer :-

26) UTad % f, udd uew,
uq-va ufafda ypfa-asr

AE@ATHR Tdd IR

3 T - TS,
TP TET § TR-TR

1 e ® A weTeR,
-forrd wRo & var ara

ot a1 S € fa=men

iy &1 7Ra TR FR-3R

U H T -9 S@ford $

it ot afsal @t ger

A T 7 W e

IWI U P UgHR 12 3T T usl F IR garsd
UL e Ut A A A | g
1. fagefr

2. ST

3. IcaH

4. dgd

Correct Answer :-



27) utaw %4 ft, uda vew,
yd-vd ufkafdd upfa-asr

JEETHR Udd IR
3T e -G BTS,
3ade ¥ET & TR-9R
2 via ® e weeR,

-forae =RoN § uer ara
gdor 31 S € fa=men
ffY &1 1RE TR IR-3R
g ¥ 99-19 I«iford B
et 5t afea W gv
A & T W FER

ITGT T B g A T Yy F SR qargd ;
R A’ Bg & T aread 82

1. 98 *J

2. 9fied =g

3. a9 %&g

4. M &g

Correct Answer :-

28) UGy Bq @Y, udd v,
ud-vd ufeafda ypfa-as

AEATHR Tdd IR

3 T TI-JH BTS,
TP TET § TR-9R

1 w9 ® e HeTeR,

-forrd o & var ara
ot a1 Ten ¢ famen
frfY &1 7Ra TR IR-3R
e # T9-9 Swiford $
ot #t afea B gew
A I W e

ITIF TR P g 12 3T T usY & IR garsd
UIT: TS TET § IR-GR’ A Saed F AT 32

1. Getell

2. et

3. g
4. el

Correct Answer :-

29) UTaY Hq q, udd wew,
q-ud uivafda uepfa-an

AE@ATHR Tdd IR

3 T - TS,
eI TET § TR-TR

= via ® et R,
-forrd wRo & var ara
atfur a1 e € fammen

firf¥ &1 1Re R IR-3R
e ¥ T - S@ford $T



it ot afsa @t gr
A & g W sl

Iuga Ui HY UgH - faT 1Y el F SR wargd
= ‘A A ugt st 32

L. e

2. faema

3. fory

4. FECH

Correct Answer :-

30) urgd Bg AN, udd v,
yd-vq ufkafdd uypfa-asr

T@ATHR Tdd AUR
3T e - WS,
e TET & IR-aR

= v § e weTeR,
-forad =aRoN ¥ uer ara
ot a1 Srert € farmen

ffY &1 7Ra TR IR-3R
e | a9 9--1 Sford $R
et 5t afea W gv
TR & 9 R fgi

IWod TR P g -1 3T T usf & IR garsd :
U A v P A e @

1. gfeer
2. Ehfefr
3. 3HTeT

R

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y HEHARAET “eadaedr dfear sfa waa:
[GEGEITSE

. HARMEARATI T caH,

gfdua@icacad

2 -

| FIaTReIhca
, Tarsf o

Correct Answer :-

 oTeTRellchca




2)

URTae ITScar y2T&d ‘{_I,&Qd;l’rdi A -

doee [y Fafgs-afaey TUc-AAAY ooy vad |
INRT-AINI FATTAGy, wma%a‘c‘lm AroTEe A ae m‘@a
fafaa s1aarH 3fET |

TEERNEr UF: e uifdere: 3T AAvEeEd | e
grfaenssy umoeasi O oo HACSHES A=l T afaofr Sar |
T T AR Tawsdd TaeAAld | fhed a1 ARem =pEd |
el AT FAIOTHeAT dGl AESIeNRIG: T8I Aleaene 37401 Aael AAfdsed
| d& T A Fd: - O gt |l aeda: d A dfa:, dfe
fr>ad sefada & TaRe caar HAdAIRdera” | aeser ‘dard’ 5fd
ufdAdas] | 3d U 3TAA AGTHgeH, ATeellesd, Tl 30T 3Red
TFQUIATY dTe#HgeeTas  dd-Ehieeh-Uea  (F59HR) AfAd fagad
ALY ALY, FAMAd PO THIEHEAT IWRATCAAURT el gfgaror
Fdfed | IEAA gl gdl TATEN T:, Tl FAASIHEAITS:, Gfaci: o
AMESAEE U3: | dloiHge-Haaey  [HAHA0r gardefd-avivadiaearas] |
et T AT RefeTaedon sy Jead)| HatAe 0 he IR
seeAfeq | ufday @ewer: ST Mgd sEeRide,. &% ARNed |
SAEAT-TAART &7 Fel  ATSTHEeRd UIfdfdss Faersiel ufafafead
HITd e A GERAVIAT el v srafd | fauIv: eReyfotARr: wEt
IEAT: ST IF Iesfed | FURA dgdel £5¢al GATAlG eidied |

FTASS’ 36T TgIIATIATE -
e ]

Correct Answer :-



velienl afScar sreNfAfétesd ueaed Age e’ Fardd -

Al CE AT Teliedt a1 afd o= R |
RATIaUaTe, areif f&cd: ershor wifda: |l

Sl HATd Feldaor: Af: |
ureRitafagle  ufdder ael wfa: I

= TR 3T TR & hdfa-

3ca{EAT ud=ar ar
ARSI

2.

1

3.

Scdl&aT

4.

Correct Answer :-

3cdLEAT vd=ar ar

Yol afScar srenfAfeserd Ty Yeacdl Faad -

FqIfATETar uhid fafg & A |
SHaeTe HeleTel TS aicd ot |

7 | SRIfg TeETHAGSIT $% Aegha HAT faqeone |
ToorsTd fAstdaAtaled facd df dlcT fRcda |



TRTSE TfScdl 99 YA FaId -

AR facgred: aRa uflg: 31ffq | a7 vgaaede: o ysfed | 374
Gl EAT: Fiod | IcAhehtT—AT Fe=gH 3T | [dATeT-8a=1€a Ieaaen
faeqd $emE fGead | a7 ad omn S Histad | IR
facaTerIed #Hael Icariierd Yhisan: goeh gord Afed | Yol Tehlss Tahl
AEeGl AHTEd, IT L9 3UlGeUled | Ueh SHSUhelhd 3HTEd, IT
sreaent: faf@car fawa sricd| 3EATs faeamerd srsefrrd sreamyenr:,
Ueh: shisTedeh:, Ueh: [AfUeh:, Teh: edeploaredst:, gsd Hoedgan: o
died | Ueh: AGBR: | 30 AT T: JEIdIGUr IRyTeled I&0T I
SUTT | 3 EAT faeareraed qfemaRons: 3 9 Fafcpse: srafd,
37d: §d O 3EARh faehred yase Aded |

d¥ @d o $rEfea |

| ATTHHY
Yolad

2.

. T
SrerTaHd

4.
Correct Answer :-

| GeTEed



6)

IRTIC IfScal TRATT YA I -

droiFgel faeaey Fafas-afdgy FTATE-AfAAY #faay vad | vdd
IWRT-ARI, AfdgY, THAAS TAd| dlsiAgel faeaed dedsd  gaiferh-
AT saeTH 3TET |

SEISHRET  UF: ARSI UIfdeneg: 3T AAvESIG | Amgeie]
aifdemeed aoresf fOar gl FAdTSHRS A= =i Aol Srar |
Tt TEn: AP Jawsdd TaAARd | fhed @1 AP weiad |
IaT AT FUHe=AT dal AESTQINE: TET: Hfoodohe IHOT Fodel 3fdved
| dar T e pd: - ‘Mg gofla | oafe aeda: @ A dfa:, dfe
forf>ad sefadd & TR cgar FAuRaeas” | agsier ‘dured’ sfd
ufdeilaae | 30 U 3Tqd dleiHeod QATeslles], eT: 3307 311ed
FFOTATT dTeTAgerias ad-Thiceh-Iea (Fsaee) fafAd faead
ALY A, FAfdd FOMEUNAT ThICHAT IWRATTAHURT LMol gfasqor
Fafed | A o7del gdl TATEN T:, Th HAISIHEONITS:, Gladia: T
AGSAE UA: | dSTHg-HAET  fAAT0T  ganfdefd-avoadidearas |
el T AT ATl s setad)| HaAtAe s he TRIAd
3TgAteT | ufday Tgger: S 31%& qdAHdG, oS¢ FAMMed |
SAEAT-EATIIR™T &TIR—T I&T dreidgasy  urfafass ?:mma?r CICIEIEE ]
#afd dar & AT gefeliar va safd | faeiva: ereyivaAmm: =
ICIT: ST T TeBfed | FURSAT dgdel T8¢al GATAG Ireddied |

ATSTHG e ET: dc 3ed -



UHATT:

4 2

Correct Answer :-

7)

8) .
eellent afscar srenfafcseed weered gAcdl Faad -
HYITATETAT Ui Tafg & a0+ |
SHige1dr HelTe!l TAe ar—id ST |
7o | SEIe YARTAISON F% Hegis HATT faqeons |
Tooetd fAsthaAfued fdcd a1 fadiey Rcdd I
3 “UHfd” Yeed faelvoeiAcalET-
) \”D_:-’:”
, ST
SiaeydT
3, L
4, (

Correct Answer :-



gRTae gfdcar geaed ‘gagdj,cdi AT -

AH facamery: #Rd uilg: Jed | dF TgEdEde: OE: Usled | 31
el e Wied | TddaeTal aer=gH A | AcATaa-saa geas
faeqa $rems fagga | a v oEn femad diefea | A
facaTerae #19e Tcarierd UhISar: goeh gudh Hicd | Ucdeh TS Tehl
HHear e, IT HEH: 3Uiderfed | Udh HUhelehd 3Ed, I
Heget: feli@car favd Sedied| 37EAT fdearerd 3seierd 3egmaer:,
Uch: shisTedgeh:, Udh: TolfUch:, Tdh: TEARTIITETET:, Uod HoRMETgdT: I
Aied | Tah: ATGMRR: | AT T T: TEAAMIIGUET IRUTeT=T I&T0T T
HUTd | 3EATD faeTeraed qHeTaRone: 3#Amh @R Halcpse: #ald,
31 9 B AT Ao yase dded |

Halcpss:’ 3T Aleuied -
gig:

1. <

JUT
dIUT.

o]
3.

4, a—d-:

Correct Answer :-



gR=ade gfScar y2T&g gﬁgcdi I -

droeee faeaey Fafas-afagy TaIca-AfAAY sfaay avad | vdd
IPRT-ARIA, Ay, THAAE TAd| dAlsiagel faeaey aeds  gaifeh-
fafaa s1a=r HfET |

TESTRET T ST wifdeme: 3T HAVHEAIT | ST
qIfaeng e EITUTHITS'I:ET o goelt FAdTSIHAge ATl T afeofr Jar |
TS qEn: AR Fawsdd TaeAAnid | fhed a1 ARem wemad |
geT T FIOHeAT dal AGSIeRIG: T8 Aleaene 37401 Adel Afdsod
| T T I Fa: - T w1 oafe aeda: 7 A i, afe
fot>ad siefada & TaRe caar HAdAadera” | Aaeser ‘durd’ sid
qﬁ?lﬁ?ﬂ?[ | 3Id U9 37U dTeTHgTH  LMMeallged T4 ‘31‘32[:’ KIE
FFUATY  dTolAgesids] 3d-Fhiceh-Tea (F59eR) Afdd fagad
HEY ALY, FATdd HOUMEUIE FHICh IWRAToAAURET  2iteT Erj%?IUT
Fafed | 3TEAT Haet @l wamell ¥, v ARG, lad:
MGG U3: | dliHge-Haey  [HHA0r gardefd-avivadidearas] |
et e AT Peifeweason ca: seTad) sEetae 0y e aRfAT
STUARRd | Gfday HgEer: Sl 3gd sEedde, G WARNed |
SANEAT-EAIART &TURIT TSl ATiHged Uiidides Jaersiel giafafaad
HIT T AT UERHAVIAT el v srafd | faeva: eReyiotARr: wE
IECT: ST T TeBfed | FURLAT dgdel T8¢dl GLATAKG Ireddied |

Wﬁéﬁﬁm-



Correct Answer :-

a?:jrsf

4.

Correct Answer :-

? ‘qeaRdd’ 3id T odl AHiEd-

2

1 37H:

Correct Answer :-
37edHY:



galloh! UTacar stenfaféseea uesrea ﬂsqagcdi I -

AT UciedT aT Sdfd e AT |
RAauAATe, aref fea: erhor arfad: |

STl HATd Feldaor: Af: |
ureRitafagled  ufaaer a@er wfa: I

Cq STUEIAT T
_ GeadTael el
vt

4.

Correct Answer :-



gR=ade gfScar y2T&g gﬁgcdi I -

doHee  faaed Fafas-afgy FUcT-RAFAQY sfaay oad [
IPRT-ARIA, Ay, THAAE TAd| dAlsiagel faeaey aeds  gaifeh-
fafaa s1a=r HfET |

TESTRET T ST wifdeme: 3T HAVHEAIT | ST
qIfaeng e EITUTHITS'I:ET o goelt FAdTSIHAge ATl T afeofr Jar |
TS qEn: AR Fawsdd TaeAAnid | fhed a1 ARem wemad |
geT T FIOHeAT dal AGSIeRIG: T8 Aleaene 37401 Adel Afdsod
| T T I Fa: - T w1 oafe aeda: 7 A i, afe
fot>ad siefada & TaRe caar HAdAadera” | Aaeser ‘durd’ sid
qﬁ?lﬁ?ﬂ?[ | 3Id U9 37U dTeTHgTH  LMMeallged T4 ‘31‘32[:’ KIE
FFUATY  dTolAgesids] 3d-Fhiceh-Tea (F59eR) Afdd fagad
HEY ALY, FATdd HOUMEUIE FHICh IWRAToAAURET  2iteT Erj%?IUT
Fafed | 3TEAT Haet @l wamell ¥, v ARG, lad:
MGG U3: | dliHge-Haey  [HHA0r gardefd-avivadidearas] |
et e AT Peifeweason ca: seTad) sEetae 0y e aRfAT
STUARRd | Gfday HgEer: Sl 3gd sEedde, G WARNed |
SANEAT-EAIART &TURIT TSl ATiHged Uiidides Jaersiel giafafaad
HIT T AT UERHAVIAT el v srafd | faeva: eReyiotARr: wE
IECT: ST T TeBfed | FURLAT dgdel T8¢dl GLATAKG Ireddied |

ST ARG T fAuTfuas -



Yol afscar renfaféseed ueeaed AgHaca’ Faad -

HAIATETAT Upid Tafg & a0 |
SHas{cl HgIeTel Jde arid ST |

7o | STEIfe YaARTAGSUT $% Hedis HAA faqeons |
Toad fAsidaAfuled facd a1 fadley Rca#




ealleh! UTacar srenfaféseesa e ﬂsqagcdi I -

HofATETar yhid Afg & o |
SHasicl HgTaTg A4S Ui ST, |

G | SR UeARTHASOT % Hedis AT Taqsone |
Teorstd At aAfuled facd a1 fadlea Rca#

QT
P CIIALIN

2.
RAcdH:
3. 2 -
JSTaTH:
W 2

Correct Answer :-

18) “ﬁawﬂ?ﬁ” a-|d|c|qhd'r|dlélll Hﬁ:’:‘?{. IR
3TEd-

a—%raif

) UGl
JaA

3.

3TSeIGer

4

Correct Answer :-

TGl



19)

eellenl GfScar srenfafeserd ueaed gl JIad -

AcdLEAT Ud=amr ar gad“fd I fAT: |

IATAUTE, AT fad: erdhor aifdd: i

STYIATde HdTc Feldaror: A |
ureRitafaele o ufaaer el Hfer: I

STl ool ohiel: Ufddel-

b £ (4
oiHglAlda %’JCIU‘I\

1.

| TormRoTe,

. grceitafagieTs
HATHIOMeISH A
4,

Correct Answer :-

BRI CHIRIEHGE)



IRTSE TfScar I8 YGHCN AT -

#7H facgrerd: oRd ufdg: 3iffd | 9 HeadCgeh: O gsfed | 3
Gl HEAT: Hied | YcAhehslRAT FI=#H HET | [aTerg-HaeTeg oot
faeqd #ses faegd | a9 ad oEr fswEd #isicad |3
facaTerIEd Hael Icarierd YhIsan: goeh s Afed | Yol Jehiss Tl
AEHear AT, IT e 3uldelcd | Teh §HSUMhelhd 3ed, I
e foafl@car fawy areafed) sreArs faeared srsefsrdg sreamer:,
Ueh: hisreATd:, Th: fAfUe:, e qEaeraTedsT:, usd Hoeded: |
dfed | Tk AR: | AT 3T I JEAdaeUsl IRUTes W80T T
SUfA | 3EATh [deareraey qleTaRume: 31EAe FR Halchse: §fafd,
37cT: @ O 3EAh faedrer’)) 9ate Adhed |

d%eIdT - Uil &ToTHET Sdfa -



TRTIC gfScar TR YGHR JAId -

#H [dcTerd: #ARd Uflg: HT&d | dF HgUSIel: OME: Uoled | 31
G & Hied | TddensTal =3+ e | [Agueg-#1a-eg ot
fargd sEmE fagad | a7 @d omn dEmad fefea |oeEs
faCATo e Hasl TcaTierd TehIsal: g2 gudh Hied | Ucdeh YIS TehT
HEeGr AT, IF ey 3ufderfed | Udh FSUhend HiEd, I
3reggent: foli@car fawT aricd| 37EAT [deamerd 3Tsciaerd 3fedmgen:,
Udh: hisredgeh:, Ueh: folfdeh:, Uah: JEIHICATEIET:, T4 Heeragar:
gfed | Th: AGRR: | JAT R T deeldiaGdsl IRareld 8707 o
SUTT | 3EATh [deaTer ey qUEIRoNA: 37EATS 9] Hdfchse: #ald,
Ia: gd TEL IATAG ﬁ'c.'.jﬂ'lﬂ's’i Ula'%' IJdod |

Feg  Taeaed: #ARd 9iag: ?

a&d

1.

&

2.

, 99
HH

Correct Answer :-



eelleht gfScar srenfaféseey ey A Faad -

Al e T Telrear a1 Fdid o= R |
RATTAUAATE, areif fecd: erehoT drfdd: |

SYEIATd HAT Feildaor: gf: |
ureeitafagled d gfader e wfa: |

CAEAT, RO f&c: 8T QAehor urfcle:-
AT UAT
. [

oellehl afScar srnfafésced yeaed Ageaca’ Faad -

e el gcliear ar fdfd e RIT: |
ITATTAUATE, AT fed: ershor ifdd: i

YA HAT Feildaror: Af: |
ureRitafaele J ufader e Hfer: |




T

2 2 -

, Tl o
Q-_arl’lﬁ?ﬂT:

4. -

Correct Answer :-

v'IlN'IGhI S9|:

24)

IR=IE ISl TRATT YA I -

AA facgrera: ARd uf8g: 3Rd | dF HgHAEIH: OME: Usled | 3719
G EAT: Fiod | IAhehal—AT JeT=H AT | [IATeI-a1a=1€d Ieaaar
forqa s Gead | a7 §d oFEn: HEEEd Hisfed | AR
TacATered #7ast TcaTierd, YehIsar: Joreh Joreh Aied | Ycdeh YehIsS Tehl
el AT, IF Hegge: 3Ufdelcd | Ueh §HSulthorhd 3HTEd, I
e fof@car fawa stuafed) AT faearert srseferd sreamer:,
Ueh: hISTEdTTeh:, Teh: fAfdeh:, Ueh: GEddloTedeT:, Usd HeRMEh: o
died | Th: AGMAR: | AT 3Rq T Jeadmeur aRdres E@oT 9
AT | 3EATh [dcATer ey qlRTaRue: 3EA PR Halchse: #afd,
37cT: T BET: A fdeAeR) Yav¢ Icod |

YASCH' 3T YA -



® frafaf@ay $iay var saea: 7 i
ArerafecreTsT

1. -

| SCRUATRAH

3 -~
4. E -

Correct Answer :-

3.
\ %T—ﬂ'qa'QT:

Correct Answer :-

JEchATHI



eellehl UTacar renfafeseea yeaEy %ﬁdjcdi I -

AqIfAdETsAT Uehid fafg & 9ue |
Shasicll #eETe! WA 9—id STord . |

G | SIEIE IeRTHAGST 5% Hedla AT facsone |
Joorsl fisthAdTed fdcd dof fadliga Ricdd |l

aﬂlm?)?raﬁraagﬁz hYofrT-



gR=ade gfScar y2T&g gﬁgcdi I -

doHee  faaed Fafas-afgy FUcT-RAFAQY sfaay oad [
IPRT-ARIA, Ay, THAAE TAd| dAlsiagel faeaey aeds  gaifeh-
fafaa s1a=r HfET |

TESTRET T ST wifdeme: 3T HAVHEAIT | ST
qIfaeng e EITUTHITS'I:ET o goelt FAdTSIHAge ATl T afeofr Jar |
TS qEn: AR Fawsdd TaeAAnid | fhed a1 ARem wemad |
geT T FIOHeAT dal AGSIeRIG: T8 Aleaene 37401 Adel Afdsod
| T T I Fa: - T w1 oafe aeda: 7 A i, afe
fot>ad siefada & TaRe caar HAdAadera” | Aaeser ‘durd’ sid
qﬁ?lﬁ?ﬂ?[ | 3Id U9 37U dTeTHgTH  LMMeallged T4 ‘31‘32[:’ KIE
FFUATY  dTolAgesids] 3d-Fhiceh-Tea (F59eR) Afdd fagad
HEY ALY, FATdd HOUMEUIE FHICh IWRAToAAURET  2iteT Erj%?IUT
Fafed | 3TEAT Haet @l wamell ¥, v ARG, lad:
MGG U3: | dliHge-Haey  [HHA0r gardefd-avivadidearas] |
et e AT Peifeweason ca: seTad) sEetae 0y e aRfAT
STUARRd | Gfday HgEer: Sl 3gd sEedde, G WARNed |
SANEAT-EAIART &TURIT TSl ATiHged Uiidides Jaersiel giafafaad
HIT T AT UERHAVIAT el v srafd | faeva: eReyiotARr: wE
IECT: ST T TeBfed | FURLAT dgdel T8¢dl GLATAKG Ireddied |

‘Tafehcard” 319 [AHTFRET -




Correct Answer :-

4 -

Correct Answer :-

Topic:- Social Science (SSC)

1) Which of the following is the narrowest strait of the world? / fAF=1faf@a & @ =l gﬁ?ﬂ A Fad T FTASAAEYT (SaN) 22
1. Strait of Dardanelles / STeied STy
2. Foveaux Strait / ®Yat STeraf

3. Bab-¢l-Mandeb / T8 37el Fecd
4. Strait of Tartar / T A FTEf

Correct Answer :-

« Strait of Tartar / T A FTE

2) Match the following:

1. Din-i-Tlahi A_Abul Fazl
2. Ram Charit Manas | B. Tulsi Das
3. Ain-i-Akbar C. Babur
4. Tazk-I Babar D._ Akbar

| AETeTEd #r A

1. EF-U-5amer A_3Tgel ToTel

2. I\ 9Ra AW | B. derd! g
3. WSS | C. 9}
4 e TaEll | D.3HT

1. 1-A,2-B3-A4-C
2.1-D,2-A,3-B,4-C
3.1-B,2-C,3-D4-A

4.1-C,2-A,3-B,4-D



Correct Answer :-

« 1-A2-B,3-A4-C

3) Match the following Education Centre with places.
1.Nalanda A Bengal
2. Somapura B.Kashmir

3. Jagaddala C.Bihar
4 Sharada Peeth | D. Bangladesh

| Trafafaa e fa o wnat & g fera w1
1. #Teler AT

2. WA | B.®HeHAR
3. Sager C.feEr
4, ARG NS | D. I enger

1. 1-A,2-B,3-C,4-D

2.1-C,2-D,3-A,4-B

3.1-C,2-B,3-A,4-D

4.1-C,2-B,3-D,4-A

Correct Answer :-

« 1-C,2-D,3-A4-B

4) The major disadvantage of dramatization is: / AP TR BT Y e %I
1. It is not suitable for all subjects and topics / I& @l vt 3R gwat & fow sugd 2 B
2. It improves group cohesion / I HHF WHIET H FUN AT B

3. It promotes self-confidence / I McATIATT & Fgrar ar &l

4. It provides opportunity for self-expression / I& cA-AHcARE & forw T yga X &l
Correct Answer :-

« Itis not suitable for all subjects and topics / I& Tl fawat 3R ywelt & forw sugw =@ ®

5) Which one of the following is not a part of early Jains literature? / @a@ad & ¥ Fia & WWEF A7 TRT F
e aidt &2

1. Brihatkalpasutra / gedbedqd

2. Acarangasutra / TARPTEA

3. Therigatha / 23emar

4. Sutrakritanga / gaGaieT

Correct Answer :-

. Therigatha / 2w

6) The Guptas issued silver coins known as: / el @ 9/dl & Rad yafad 3, g Fer e
1. Karshapana / @uiqur

2. Dinara / feamr

3. Pana / 4rr

4. Rupaka / <qrar



Correct Answer :-

« Rupaka / 4rar

7) When does Election Commission orders countermanding of elections? / IeTa 3T ﬂ?ﬂﬁ F YT TS FT WA FT AT 82
1. In case of scuffle among contestants / UTdgical & &g gTAUS & ATHS H|

2. In case of booth capture / U el g & RRafa &)

3. If nominated candidate belonging to a recognised party dies at any time after the last date of nomination / gfe forell A=Tar uT urdl & arfaa
SFficar & v A 3ifda A & arg el o woa g @ Sl ®

4. If a new party joins the contest / 39R &g 5 TS et s & nfder g ¥

Correct Answer :-

« If nominated candidate belonging to a recognised party dies at any time after the last date of nomination / g Trell FeTaT e it & arfda
SFAGaR & AR & 3fAH AT & arg frdr o wow g & el &

8) A Social Science teacher has developed an objective type test but she has a doubt about the reliability of the test. What should be done to
ensure the reliability of this test? / T wfoF e e & vw aegics T&R A e 3ewq A §, AT 3§ gden A fegwegar W weE §
39 dieror i faegwear glafaa wa & fov w21 frar s afee?

1. Cut short the length of the test / gfi&ToT & e PHaT HY

2. Increase the number of questions / W% &1 TEAT FgEw

3. Try for test retest method / T&Tor-get.udretor fafyr @ vara

4. Divide the test into two halves / Wetor @&t &t feeal & famfaa &
Correct Answer :-

« Try for test retest method / G¥r&ToT-geT: adteTor fafy &1 e

9) In which year did India face the Chinese aggression? / & ¥ & sIRa & =it JHACT FT AHAT FFaT?
1. 1955

2. 1964

3. 1962

4. 1965

Correct Answer :-

« 1962

10) Who acts as a link between the Council of Ministers on the one hand and the President as well as the Parliament on the other? / T IR

#fafyg it qEdt 3R ¥ & WAy TR F fiT F F F & A ST FE a2
1. Vice-President / SURTEUT

2. Prime Minister / TITTST3T

3. Cabinet Secretary / e afa

4, Parliamentary Secretary / S9cid GfId

Correct Answer :-

« Prime Minister / TUTAHAT

11) Who among the following is considered to be an architect of modern Social Science? / fwafaf@a & & R smyfas awnfos Reme w0
AEIHR AT T 5?2



1. Auguste Comte / 3P HiFe
2. James High / 3%8 &$
3. Emile Durkheim / S#Tgel g

4. Charles Beard / amed 9T

Correct Answer :-

+ Emile Durkheim / 3&Tsel g@isl

12) Who translated Ramayana and Mahabharata from original to Oria language? Kl ¥ 3NF3m smar F IEEOr AR ARG F 3ejdre
Faar frar?

1. Fakir Mohan / ®hR e

2. Madhusudan Rao / #AYIEA ITd

3. Radha Nath Ray / 14T &1 ¥

4. Lakshmi Nath Bezbarua / W& T SSTero31T

Correct Answer :-

« Fakir Mohan / I g

13) Who was not part of ‘Navaratna’ of Akbar? / 3/heX & 'dalcel’ HT FEAT FiT g 4T?
1. Birbal / dReret

2. Raja Todar Mal / J<TT €18X A

3. Raja Bhara Mal / T[T AR AT

4. Tansen / ATTHA

Correct Answer :-

» Raja Bhara Mal / ITSTT AR AT

14) Who used to be the chairman of Planning Commission? / Z/STaT AT & 3reqel Hid g &2
1. Comptroller and Auditor General / IGRECTIEIIES E:I%'lﬂ'lﬂT wieTh

2. Commerce Minister / afOTeg #HY

3. Prime Minister / GUTe#HAT

4. Finance Minister / T #3Y

Correct Answer :-

« Prime Minister / YA

15) Who developed Sociometry as a technique for assessing relationships among members in a social group? / T& | WHE A wewat & i
Ul FT HHad A F T 0F aFd § T & Foa gAeAfa &1 e Har?

1. J.L. Moreno / 31.Td. HRar

2. Max Weber / #a IR

3. Henry Murray / =%t #¥

4, John V. Michael / e &Y. #sdhe

Correct Answer :-

« J.L.Moreno / SI.Uel. ARAY



16) Akal Takht in Harmandir Sahib was built by: / gR#Afeex ®1fRg # rerer a&a &1 AT e garr fFar = o
1. Guru Nanak / 9% oleieh

2. Guru Angad / 9% 301G

3. Guru Hargovind / % wnfdg

4. Guru Govind / I® g

Correct Answer :-

« Guru Hargovind / 9% &7 dg

17) is the quantity of all goods of imports and exports in a year by a country. / TF oA CanT THh a¥ & a3k
ata & wsht At i a7mw )

1. Tariffs / UR[eh

2. Volume of trade / €ITAR qiRATOT
3. Quotas / BTeT

4. Embargo / SATIR-GfoRTY

Correct Answer :-

« Volume of trade / TR gR&ATOT

18) implies severe indictment of the government though it does not require resignation of the Council of Ministers. / T dcad

FER F MK rariuor ¥ §, gt 9% o AfuRye & sedits i smaegsar 78t 8
1. Cut Motion / Seldl UdTd

2. No - Confidence Motion / 3Te#TH WdTa

3. Adjournment Motion / M UEAd

4. Censure Motion / f=el u&dma

Correct Answer :-

« Censure Motion / f=el u&dma

19) society feels concerned about meeting the needs of all its members. / AT 39 Weft wewat 1 Sl Hr QA F F
TR # Ranefie @ g

1. Egalitarian / GHATATTRRATET
2. Elitist / G3cemdr

3. Class Oriented / @37 EIxiRc
4. Sectarian / GRS

Correct Answer :-

« Egalitarian / SATATTABRATG!

20) is a process of increasing knowledge, skills and capacities of the people of the country. / A F AN P J BRI 3R
&A1 P geM P T ufhar B

1. Human resources / AT TATY

2. Human Capital Formation / HATTd ‘Cﬁﬁ IGE I
3. Physical capital formation / $1if& q\Gﬁ Raor
4. Capital formation / Gir faator



Correct Answer :-

« Human Capital Formation / #ATd (Eﬁ IGE I

21) The industry which produces machine tools which are, in turn, used for producing other goods for consumption purpose. / I§ 333ﬂ?T s

wefielt SRT FT 3euee FAaT B, A qGH H, ITHNT F 35T ¥ e TEGIHT F IcUEA A F AT I9AT By I
1. Fiscal goods / ISTopINT AT

2. Capital goods / Ysara el

3. Consumer goods / SUHTHT aE]U

4. Perishable goods / @RI &t aTell AT

Correct Answer :-

22) The Rig Veda samhita denotes one-fourth of its hymns to : / H3de TRAT # 5UF TH-aUS ool F g% fav gofar aar &
1. Agni / 3

2.Indra / 35

3.Rudra / %g

4. Marut / HTRd

Correct Answer :-

o Indra / 53

23) The matters or subjects of common interest to both the Union Government as well as State Government are included in list / &g

TFR IR To7 TR 1 F v aees Ra & awa a1 v T F anffrer g &
1. Concurrent / Tl

2. Union / &9

3. State / s

4. Uniform / Th AT

Correct Answer :-

« Concurrent / GHIdT

24) The government of India established to coordinate the activities of all institutions involved in the rural financing system. / #Rc

TER ¥ AT R T # o W T # ARt § e  fr _ # e
1. National Board of Agriculture and Rural Development/Tl'g’PI ?ﬁf 3R T e as

2. National Board of Agronomy and Rural Development / T8I Tﬁ( e 3R arefior e a1

3. National Bank for Agriculture and Rural Development / ITERT @ 3R g e 6

4, National Bank for Agriculture Reconstruction Development / TF@'J %ﬁ gaﬁm‘rw e d@

Correct Answer :-

« National Bank for Agriculture and Rural Development / TTE Y 3R 0T fawr d&

25) The song Vande Mataram was first published in which text in 1882. / 3¢ HATA Md Jgall R 1882 H fhE Faaxor & IR gam ar
1. Anandamath / 37T #:S

2. None of the above / SU'?E?F Fa aﬁé Hﬁ

3. Gitanjali / Jfdrstfer



4. Gita Rahasya / It &

Correct Answer :-
« Anandamath / 37T5¢ #S

26) The method of learning in which the students are given an open question and they design investigation methods to arrive at conclusion is
knownas:qunr-Ta‘?rﬁﬁrﬁm—#mﬁwaﬁﬁamamm%wamw@ﬁmmﬁﬁﬁﬁﬁmm% e & 5w
weHfa H & ¥ & AT S

1. Conformation inquiry / fa&uor Siftar
2. Guided inquiry / ERT Sira

3. Open inquiry / et Jifa

4. Structured inquiry / TG g

Correct Answer :-

« Guided inquiry / &R Sita

27) The main tenets of Mahatma Gandhi’s basic education is: / Fgtear aelt &y #faw Rraw w1 FEa Meyia &

1. Education should develop a strong man / TRI&T &1 U Hlqd FAJST &I AT HAT @1fen|

2. Education should be self-supportive / f&T 3ncafasik @ @ikl

3. Education should be based on cultural and social heritage of the Land / f¥&TT &1 &r Fﬂ?ﬁfﬁaﬁ IR Fefore fdd W 3maRda @ arfke)
4. Education should be activity-centered / e wfafafa-Siga @?ﬁ ﬂT%UI

Correct Answer :-

« Education should be self-supportive / & AR 2= @nfkw]

28) The process of hiring an outside contractor, especially from foreign countries, to perform their work is termed as ./ Y w7 & Rgaft

&t @ vF Al AR F AgFT A A ik, Twd F FA A eaRa frrsmwd ¥ w9 F aRenfya i sl §)
1. Outer Space financing / dT&l €Ul faauioor

2. Overseas financing / fael faayor

3. Outstation sourcing / ST&l TATT FdeT

4. Outsourcing / AT

Correct Answer :-

« Outsourcing / CIERCIGE
29) Which one of the following is not a characteristic of evaluation? / RFfaf@a #& ¥ a1 FeaiFa i vF FAvar 781 8?2
1. It implies a systematic progress / S&®I dlcUd Th gafeyd wifa & &

2. It is a continuous process. / J& TH Tdd UlhaT &I

3. It always assumes that educational objectives have previously been identified and defined. / T T AT ST & 5 Af&@F 3324 ' uger TgamEn
3R oRenfa fomar = &)

4. Tt does not give emphasis to personality changes. / I& afthcd URAIA W IR A&t &aT 8l

Correct Answer :-
« It does not give emphasis to personality changes. / I% cafthca aRada w R A& &ar §1
30) Which one of the following is not a characteristic of critical thinking skills? / Awfaf@a & ¥ Fu1 Ree AT Fiora A s [FAvar 7t &2

1. Being time consuming and laborious / 31 FHT ot arem 3R afksel ar



2. Being resourceful and creative / W19 Ued 3R I@ATHS alAT
3. Being systematic and deductive / =gafeyd iR fagieres gar
4, Being reasonable and rational / anfa 3R adkwea @=r

Correct Answer :-

« Being time consuming and laborious / 3% FAA o aren AR afesed gar

31) Which one of the following is not included as a function of summative evaluation? / fFifaf@a & @ Fla AcAF Feawa F w4 & & &
anfAer Et 82

1. Promoting / Wicamea

2. Selecting / TIAT FEAT
3. Discriminating / T®gaRY
4, Crediting / &% &1

Correct Answer :-

- Discriminating / fa®egamrY

32) Which statement about Kabir is correct? / FEIT & S # &Il 6T FUT Tar 2
i. Kabir Das was disciple of Ramananda. | FdR g AT F sy A

ii. Kabir belonged to the Muslim weaver family. / ¥ ﬁm FoART qRaR ¥
iii. Kabir believed God is one and people just worship him with different names. / FHX FT AT AT F $2a¥ v § 3 A1 990 39 AN
amt & gEr B

1. All are correct / 99 Tl %

2.Onlyii / /&ad ii

3. Only iii / / &arel iii

4. Only i/®ad i

Correct Answer :-

« All are correct / T TE &

33) Which of the earthquake wave travels fastest? Ac T W‘ﬁ'ﬂ' T Y g6 s afT gy Lxd
1. P-Waves / UT-cat

2. S-Waves / TH-aR3

3. L-Waves / TeT-c<ar

4. T —waves / &I-aat

Correct Answer :-

« P-Waves / f-aat

34) Which programme of the Government of India promises to extend livelihood security to the rural households by providing one hundred days
of guaranteed wage employment in every financial year to every household? / HRd HIHR HT il AT FIHA W R A & ey af & v
W Re i AR aren TR e FE qefior aRart S A geaT & FT arer w4 82

1. Jawahar Rozgar Yojana (JRY) / STaTER AR AT (SF.31R.ATS)
2. Sampoorna Gramin Rozgar Yojana (SGRY) / HTE[U‘I AT SR Arstelt (W.Gﬁ.?sﬂ?.a'lé)
3. Integrated Rural Development Programme (IRDP) / U?ﬁT{FT o T FEhA (3. 3RS



4. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / FglcaT I TET AROT ISR IRET ATATHIH (Fa9m)

Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / FglcT I TET ARHIOT ISR IRET ATATAIH (FaR9m)
35) Which is miniature of the parliament of India at the grassroots level? / HAHd TR W dARA # FEg F o T FT &

1. Gram Panchayat / JTH 'BiE

2. Gram Sabha / JTH THT

3. Block Panchayat / Slfeh G=mad

4. Zilla Parishad / forem gRwg

Correct Answer :-

o Gram Sabha / IqTH THT

36) Which among the following is not function of Central Bank of India? / RFafaf@a & @ Fa1 dvcd dF 3% 3B #1 7 ad &2
1. Custodian of foreign reserves / faeal el SR &1 3fATeTh

2. Operation of Direct Benefit Scheme to the rural poor / IMHIOT IRET & foIT Ucge oMy ASIAT & TaTel

3. Bankers bank / ST @1 d

4, Controller of credit / 0T (3hf3e) &I fATTH

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / IAIOT INTET & foT UcgeT anH Irslell &1 TATAT

37) Which among the following countries typically follows a free market economic system? / Arafaf@a ot & @ Fia-ar 2w, HFT TR
e gormelt FT JTHIOT FAT T2

1. Cuba / Fgdr

2. South Africa / &f&ToT 373hTeRT
3. China / A1

4. USA / €gh T 33{Ieht
Correct Answer :-

« USA /8 T AT

38) Which mass based organization’s initiative led to the passage of Right to Information Act? / HIeAT BT FOFR FAPIH TRaG =S &
foe fhw Ao smuRa w@e #r e §5?

1. National Campaign for Human Rights Initiative / AFAITIBR Tgol & forw Rucie 3ifd=
2. Great Legalisation Movement India / 7T 30T 3feleld HRAT

3. Mazdoor Kisan Shakti Sangathan / #sgI forara Aafth Terea

4. Self — Respect Movement / TI-FFHAT HTGIelel

Correct Answer :-

+ Mazdoor Kisan Shakti Sangathan / #sTqY foRaTe QIfh HaTae

39) Which Commission was appointed by the Government of India to bring changes in secondary education system to make it better for the
nation?

| ¥R THR ZaRT e Imahr & Wz & AT dgaR aa= ¥q Areafas R yoreh # aqare o F v PAgwa B o



1. Mudaliar / HETfer—IR
2. Srikrishna / #igpsoT
3. Ramaswamy / JTHATEATHT

4. Kothari / PISRY

Correct Answer :-

« Mudaliar / HEIfR—IX

40) How much time difference is there between two longitudes? / ET %.Qn?rd & i forger 9877 31?-R' E'FH %‘?
1.2min / 2 fAEe

2. 12min / 12 f&=e

3.8min / 8 fAeC

4.4min / 4 fC

Correct Answer :-

« 4min / 4 f&FC

41) How many ‘subjects’ have been assigned to Local Governments through Constitutional Amendments? / wamiae g & AeaH @
T TWFRT A e Rer @y = §

1. 10

42) Which of the following is an outcome of pragmatic school of philosophy? / rfRf@a & ¥ Sl qdfaaeT F SYIaeRHATH ﬁi:ﬂ'l’ﬂ'ﬂ' HT TH IROTH
-

1. Project method / RIS (Weiae) fafd
2. Discussion / UR@d
3. Team teaching / &1 fvayor

4, Source method / T fafdr

Correct Answer :-

« Project method / TR (Weiee) fafdy

43) Which diagrammatic representation would you like to choose to show Proportionate Allotment of National Income to different categories? / faffeer

A & TAT 3T F AeguTiaS AHded F @mW F v w9 e IR Awaor B geren aga?
1. Flow diagram / UdTg 3R

2. Time Lime diagram / TS olsd ARG

3. Bar diagram / 9R 3R@

4, Pic diagram / UTS 3RE

Correct Answer :-

 Pie diagram / s 3IRG



44) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at school with: /IT‘?fRT m‘f #T TG, 2005 T aqIT
W SR &l ¢ B T A g R @ ged F e @ @ g@m sgar ik -

1. Real life outside the classroom / T&TT & ITEX &l ATEATAD SHTdeT
2. Life inside the classroom / &&TT & R Sfrae

3. Textbooks in the classroom / &I 3 U@W

4. Teacher’s expectation / fRre/® @} 3rder

Correct Answer :-

« Real life outside the classroom / eF&TT & BIERED areafas siae

45) The Aihole Inscription is ascribed to which of the following rulers? / fAFafaf@d el & @ FaF GarT W Remew Af@q A s
©

1. Kharvela / @A

2. Bimbisara / Rf@aar

3. Rudradaman / TgaTdd

4, Pulkeshin Il /g?ﬁﬁ‘\’ﬁ IFGIE

Correct Answer :-

« Pulkeshin Il / efehell el

46) Which of the following is a plantation crop? / FafefEd ¥ @ F1H-30 T gaRIuo waa 82

1. Sugarcane / =T
2. Cashew nut / @Is]
3. Cotton / hUTH

4.Red Chili / @Tel f&d

Correct Answer :-

« Cashew nut / ohIs]

47) Criterion-referenced evaluation refers to: / HFGS-gid Teaid= BT aread |

1. Evaluation based on a set of predetermined criteria / qd RUIRa AFEST & T AT & IHUR W Hediched AT

2. Evaluation conducted without any arbitrary norms / &Y #ff AT AGs! & Hedihd & a1 ARASIT BT
3. Evaluation carried out after conducting pilot test / YRR TH&T0T el & AIG HedThed HIAT

4. Evaluation administered as post-test mechanism / Hgdihed & d1G G&TOT &F & ®F H TR HLT

Correct Answer :-

- Evaluation based on a set of predetermined criteria / qd fA4IRa AT & TF T & MUR W Hedide T

48) In collaboration with an organization in which among the following countries, the Ministry of Earth Science has launched ‘Project
Varsamana’ as a cornerstone of the Indian meteorological department modernization programme? / T ST F weu I Fufifaa = A 9
frad, gedt fagm amerg 3 yRdR T f{umr snyfateRor sriwd # snuRfar & w0 § 'Weee qataar yRe fear 22

1. France / I

2. Russia / &H

3. USA / 31
4. Germany / ST

Correct Answer :-



« France / I8

49) Continuous and Comprehensive Evaluation has transformed the evaluation system as: / ¥ad 3R Sa9F Aediwd I HEaideT ToTell H
& w7 & woiala R

1. More complex by incorporating too many details / agd @R faeoll @ nffer s 3R 3R e

2. More comprehensive for scholastic areas only / &ad df&ew &= & fovw 3w s

3. Vague as exact rank of the student cannot be found out / 3THUE, Fifh ST & TEIH I BT UAT Gl SIMAT ST Fhell &
4. More reflective of the entire personality of a student / Teh ST & QT hfihed & fawg & 31fQw Riaashe

Correct Answer :-

« More reflective of the entire personality of a student / Teh ST & YT hihed & fawg & 31fQw Riaashe

50) The chalcolithic site Inamgaon of ancient India belongs to which of the following states? / RF=faf@d & & Fa TsT ¥ yraT 94RT Fr
AR 9IS T (AeRAfdE) T AT Fald 82

1. Maharashtra / ATRTE
2. Rajasthan / ITSTEATA
3. Karnataka / FaTcdh

4. Gujarat / [T

Correct Answer :-
» Mabharashtra / ATRTE

51) In which of the following session of the Indian National Congress the resolutions on Fundamental Rights and National Economic Policy were

passed? / WA T FAW & A # ¥ Fw @7 # Ao 3RsR 3t 8T anfds Hify | dFer ol Fr @2
1. Faizpur,1936 / thaTq¥, 1936

2. Lahore, 1929 / 9IT&R,1929

3. Karachi, 1931 /&1, 1931

4. Belgaum, 1934 / STel9Ta, 1934

Correct Answer :-

- Karachi, 1931 /&=, 1931

52) The first mass movement against British India was : / ffeer #Ra & favqyr ggem o1 JEe an:
1. Non-Cooperative movement / 3R-TghRT et

2. Swadeshi Movement / Tacft 3fictelat

3. Quit India movement / HRd SISl ialeled

4, Khilafat Movement / f&@Twd 3fiereret

Correct Answer :-

« Swadeshi Movement / Taeeft 3iictereT

53) Margosa oil is obtained from which of the following trees? / ARfET 99 Aefefag # ¥ &9 95 @ 9Ied g dr 1
1. Ficus / BIgehyd

2. Babul / d¢qel
3. Neem / 1T



4. Bamboo / 918

Correct Answer :-

« Neem / 1T

54) Which among the following is the World’s largest Wetland System?
| rafaf@a & @ sl @ Reg 6 ga@ 7371 IS o (deols Rwew) 82

1. Everglades (USA) / Tdiioigd (JTHT)

2. Okavango (Botswana) / 3\RAaN ( ScHaTAT)

3. Pantanal (South America) / Uedelellel (GTaT0T HART)
4. Camargue (France) / eI (i)

Correct Answer :-

« Pantanal (South America) / UedleTelTel (GTaTOT 37HAR®T)

55) Scientific study of soil is known as which of the following / R A W FT IS T FAT hgdldl %?
1. Soilology / TiSaTITSIy

2. Pedagogy / BRI

3. Pedology / USTelisit

4. Ontology / Sfferarst

Correct Answer :-

» Pedology / UsTelisit

56) Greenland comes under which of the following Jurisdiction? /Eﬁﬂﬁ?, Frfafad & ¥ s ARER-a7 F arar €2
1. Danish / AT

2. Norwegian / AT

3. US / 3R

4. Dutch /3T

Correct Answer :-

« Danish / 3f3aar

57) Which year was ‘Project Tiger’ launched in India? / %Rd & @ a¥ & ‘Yo IR’ IRFT BFam mam a2
1. 1973

2.1974

3.1971

4. 1972

Correct Answer :-

« 1973

58) Who succeeded Shivaji Maharaj as the Maratha king? / FRTST T&T & ¥ & g #AgRT &1 3AUMRSHT Hid =12
1. Shahji / TTgsht

2. Shahuji I / TITgN I



3. Rajaram [ / TSIRTH |
4. Sambhaji Bhosle / THIS $&el

Correct Answer :-

« Sambhaji Bhosle / THS $reel

59) The cold layer extending up to the ocean floor is called? / g dd T thell 38 WA FT FAT Tl AT §?
1. None of the above / 30d® # & ®I$ el

2. Epilimnion layer / tiforafaws wea

3. Thermocline layer / JHTFeTSA W

4. Hypolimnion layer / ESUIToiA eI TR

Correct Answer :-

« Hypolimnion layer / TEUIToIATI W

60) Social Learning theory was introduced by: / o SRR fRygia & gRT U= fHar 4T 4TI
1. Sigmund Freud / forsis wias

2. Carl Jung / @Tel IT

3. Carl C. Rogers / @Tel &l IR

4. Albert Bandura / 3rea< aqU

Correct Answer :-

+ Albert Bandura / 3ea< agU



